

$$| \alpha^m + (m-1)\alpha^p + \alpha^q | \leq \alpha^p (\alpha + (m-1) \leq \dots)$$

فقد اذو $\alpha + m + p$ $m + p - \alpha$

$$\sqrt{4\alpha^2 + (m+1)\alpha + \frac{m}{p}} \leq \dots \quad 4\alpha^2 + (m+1)\alpha + \frac{m}{p} \leq \dots \quad 4\alpha^2 + (1-\alpha)\alpha + \frac{p-\alpha}{p}$$

$$\leq \alpha^2 + \alpha + 1 \leq \dots \quad (\alpha+1)^p \leq \dots \leq \frac{1}{p} \leq m\alpha^m$$

$$\rightarrow \frac{\sqrt{\frac{m}{p}} | \alpha + 1 |}{\alpha + \frac{1}{p} | \alpha^2 - \frac{m}{p} + \frac{1}{p} |} \rightarrow \frac{\sqrt{\frac{m}{p}}}{\alpha + \frac{1}{p}} \leq \frac{p + \tan b}{\alpha} \geq \frac{1}{\alpha} \quad \frac{\sqrt{\frac{m}{p}}}{\alpha} \leq \frac{p + \tan b}{\alpha}$$

$$\tan b \leq \frac{\sqrt{m}}{p} \rightarrow b \leq \frac{\pi}{4}$$

$$\frac{\alpha^p \tan b}{\alpha - 1} \leq \alpha \quad 1 + \alpha + b \leq \alpha - \alpha b \leq -1$$

$$0 \leq \alpha + b \leq \alpha \rightarrow 0 - \alpha + b \leq \alpha \rightarrow -\alpha + b \leq 0$$

$$p b \leq \gamma \rightarrow b \leq \gamma / \alpha \leq p$$

$$\left[\frac{b \alpha^p}{p} \right] \leq \left[\frac{-\gamma - \alpha}{p} \right], \left[\frac{\gamma}{p} \right] \leq -\gamma$$

$$f(n) = \begin{cases} \tan((n+1)\pi) & i \leq x \\ \frac{\alpha^p + n - 1}{\alpha(1-n)} & 1 < x < 0 \\ b(\alpha - [x]) & x > 0 \end{cases}$$

$$\alpha \leq \tan \frac{\gamma}{p} \leq \frac{\gamma}{\alpha} \rightarrow \frac{1}{\alpha} \leq \frac{\gamma}{\alpha} \rightarrow \alpha \leq \gamma$$

$$\alpha \leq \frac{\gamma}{\alpha} \leq b(0 - \alpha) \rightarrow \frac{\gamma}{\alpha} \leq b \rightarrow b \leq \frac{\gamma}{\alpha}$$

$$f(n) = a[n] + a + b[n] + b$$

.ف

$$a + b[n] + b$$

$$a + b[n] + b[n]$$

$$a + b[n] + b = b[n] \rightarrow a + b = 0 \rightarrow a = -b / b = a$$

$$f(a) = a[a] + a - a[a] - a = -a[a]$$

$$a[a] = -1$$

$$-a[a] = 1$$

$$f(n) = b[n] - a[n] - a = b - a = 0$$

.د

$$f(n) = -a = \frac{a}{-1} = -\frac{1}{1}$$

$$f(n) = \begin{cases} \frac{x^p + m n + n}{a - n} & n \neq a \\ p & n = a \end{cases}$$

.ج

$$\frac{(x-a)(x-pa)}{-(n-a)} = pa - a = -(a-pa) = p - a = p$$

$$(x-a)(x-pa) = x^p - pa x + pa^p = x^p + m n + n \rightarrow \begin{cases} m = -pa & m = -4 \\ n = pa^p & n = 1 \end{cases} \rightarrow n - m = 1 - (-4) = 5$$

$$1 - pa^p$$

.ص

$$b \sin\left(\frac{\pi}{a}\right) = 1 - pa^p \cdot a = pa^p + a - pa^p = 1$$

$$\frac{1}{p} = b \sin\left(\frac{\pi}{p}\right) = \frac{1}{p} \cdot b = \frac{1}{p} \cdot b = 1 \rightarrow b = \frac{1}{p}$$

$$\frac{a}{b} = \frac{\frac{1}{p}}{\frac{1}{p}} = 1$$

$$\frac{|x-1|(x+m+1)}{(x-1)(m(x+1)+1)} = \frac{x+m+1}{(m(x+1)+1)} \cdot \frac{x+1}{x+1} = \frac{x+m+1}{(m(x+1)+1)} \cdot \frac{x+1}{x+1}$$

.8

$$\frac{m+p}{p_{m+1}} = \frac{m}{m+p} \rightarrow \begin{cases} m < p \rightarrow -m^p - p_{m+1} \rightarrow p_{m+1}^p \rightarrow p_{m+1}^p + 0 \rightarrow p_{m+1}^p \\ m > p \rightarrow m^p + p_{m+1} \rightarrow p_{m+1}^p \rightarrow m^p - p_{m+1}^p \rightarrow 0 \end{cases}$$

$$m \rightarrow \lim_{x \rightarrow -1} f(x) = \frac{1-1+1}{(-1+0+1)} = 1$$

$$m \rightarrow \frac{1}{p} \rightarrow \lim_{x \rightarrow \frac{1}{p}} f(x) = \frac{1 - \frac{1}{p} + 1}{1 - \frac{1}{p} + 1} = \frac{p}{p}$$

$$f(x) = \sqrt[p]{|x-1|} \sim |x-1|^{1/p} \sim |x-1|^{1/p}$$

.9

$$R = \{a\} \rightarrow a \rightarrow \sqrt[p]{|a^p - a|} = 0$$

$$\lim_{x \rightarrow a} f(x) = \sqrt[p]{|a^p - a|} = 0$$

$$a \rightarrow 1 \rightarrow 1 - 1 + (m-1) \cdot 1 = 0$$

$$f(x) = \sqrt[p]{|x-1|} = \sqrt[p]{|x+1|} \rightarrow \lim_{x \rightarrow -1} f(x) = \sqrt[p]{|-1-1|} = 0$$

$$\frac{|x+1|}{|x+1||x^2-x+1|} = \frac{1}{|1+1|} = \frac{1}{2}$$

$$x \rightarrow 0 \rightarrow \frac{1}{a} = \frac{p a - 1}{p a + 1} \rightarrow p a^p - a = p a + 1 \rightarrow p a^p - p a - 1 = 0$$

-10

$$\lim_{x \rightarrow \frac{1}{p}} f(x) = \frac{\frac{1}{p} + \frac{1}{p}}{\frac{1}{p} + 1} = \frac{\frac{2}{p}}{\frac{p+1}{p}} = \frac{2}{p+1}$$

$$\lim_{x \rightarrow p} f(x) = \frac{p+p}{p-1} = \frac{4}{p-1}$$